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#include <LiquidCrystal.h>

#include <DHT11.h>

dht11 DHT11 1;

#define DHT11PIN 13 /A& EA34%4F 13



LiquidCrystal 1cd(12,11,10,9,8,7,6,5,4,3,2);
void setup()

{
Serial.begin(9600);

led.begin(16,2);
}
void loop()

{

DHT11 1.read(DHT11PIN);
Serial.print("Humidity: "); /& %14
Serial.println((float)DHT11 _1.humidity, 2);
Serial.print("Temperature: ");
Serial.println((float)DHT11 _1.temperature, 2);

led.clear();// ¥ it %
lcd.print("Temperature: ");
led.print(DHT11 1.temperature);
lcd.setCursor(0,1);
led.print("Hummidity:");
led.print(DHT11 _1.humidity);

delay(1000);  / ERHHER 1s

}
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int sensor = AQ;
int sensorRead = 0;

void setup() {
Serial.begin(9600); //FF & Fr ¥ &l %
}

void loop() {
sensorRead = analogRead(sensor); //H A0 F)F& IS UG =
Serial.println(sensorRead); //F2 H M5 5 £ B A% 215 21358 4 tH
delay(200);
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int sensor = AQ;
int sensorRead = 0;
int newdata = 0;

void setup() {
Serial.begin(9600);

}

void loop() {
sensorRead = analogRead(sensor);
newdata = map(sensorRead, 0, 1023,0,255); /4 0-1023 X N %] 0-255
Serial.println(newdata);
delay(200);

}
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int sensor = AQ;
int sensorRead = 0;
int newdata = 0;

void setup() {



Serial.begin(9600);
§

void loop() {

sensorRead = analogRead(sensor);

newdata = map(sensorRead, 0, 1023,0,255);

Serial.println(newdata);

analogWrite(3,newdata); //7E 3 5 AL CH/NEEED i H newdata K/ AT,
ik led 5

delay(200);
h

3. BT EEE AP AL
SEIG A A4 Arduino Uno AR, AR, FEHl, DHtEAL, Hc06 WA B,

(1) BNk

W IR 4-6 %

Mgl B SiA; ULN2003 (&5 AME#RE (5V)

JREE: HAh USRI, SO NG, M R Rk I EA A, A S H AL
).

AL 3% — Bl R Ak 2 — FEIAS AN 1), v TB) A B I D AR T sh ) o AT AT R B AR B L




e P AR B T EL RS T, A T RS S R, ORYT R

<
= —
M%_9§ — HIGH =S =
= — = HIGH —>
= — ] =
i ) — —_
— ] =] ]
= =] - -
GND = GND GND

G | BERE

. .

.ol ole » 0 0 .
D O e o o » .

TR B A B I AT RE R ER . R B U BT AL T

vz

int apin =8; //orange

int bpin=9; //yellow

int cpin = 10; //pink
intdpin=11; //blue

int delaytime = 10; //time

void setup() {
pinMode(apin, OUTPUT);
pinMode(bpin, OUTPUT);
pinMode(cpin, OUTPUT);
pinMode(dpin, OUTPUT);
}

void loop() {
digital Write(dpin, LOW); //turn off blue



digitalWrite(apin, HIGH);  // turn on orange
delay(delaytime);
digital Write(apin, LOW); //turn off orange

digitalWrite(bpin, HIGH);  // turn on yellow
delay(delaytime);
digital Write(bpin, LOW); //turn off yellow

digitalWrite(cpin, HIGH);  // turn on pink
delay(delaytime);
digital Write(cpin, LOW); //turn off pink

digitalWrite(dpin, HIGH);  // turn on blue
delay(delaytime);
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#include <Servo.h>  // import the function

Servo myservo; //name of the servo

void setup() {
myservo.attach(9);  // servo uses pin9

}

void loop() {
myservo.write(90); //turn to 90 degree (0-180)
delay(15);

}
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#include <Servo.h>  // import the function
Servo myservo; //name of the servo

int sensor = 0;
int angle = 0;



void setup() {
myservo.attach(9);  // servo uses pin9

}

void loop() {
sensor = analogRead(A0);
angle = map(sensor,0,1023,0,180);
myservo.write(angle); //turn to 90 degree (0-180)
delay(15);

}
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#include <Servo.h>
Servo myservo;
void setup()

{

myservo.attach(9);
myservo.write(90); // FENLAZ)
J

void loop() {}

180 JEMEML:
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#include <Servo.h>
Servo myservo;

void setup()
{

myservo.attach(9);
myservo.write(90); // {ER AL E
}

void loop() {}
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char serialData;

void setup() {
Serial.begin(9600);
pinMode(11, OUTPUT);

}

void loop(){
if( Serial.available()>0 ){

serialData = Serial.read();

if (serialData =="1") { /£ F 555 LED 5%
Serial.print("Got command: "); Serial.println(serialData);
Serial.println("LED-ON");

digital Write(11, HIGH); //s5% LED 54
pelse {  /HRFIMK LED 454
Serial.print("Got command: ");

Serial.println(serialData);
Serial.printin("LED-OFF");

digital Write(11, LOW); /8K LED 154

b
}
}
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HC-06

>b180

HC-06

HC-06: +Command: Servo b to 180 at
servoDelay value 15

HC-06

>al

HC-06:

HC-06: +Command: Servo a to 0 at servoDelay
value 15

HC-06

>c

>

HC-06: Unknown Command

>0

HC-06

HC-06

HC-06: + Servo Position Report +
HC-06: B Position: 180

HC-06: A Position: 0

HC-06: ++++++++++++++++++++++++++
HC-06:

type in command
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Welcome!

+Command: Servo b to 180 at servoDelay wvalue 15.

+ Servo Position Report +
B Position: 180
A Position: 90

IE&%R [show tinestanp BHERT | 9600 Wi
e

#include <Stepper.h>

#include <Servo.h>

Servo aser, bser;

int aserMin = 0,aserMax =180,bserMin=0,bserMax=180;

/1 FLATL PN D LR e e — R AP
const int STEPS PER_ROTOR_REV = 32;

const int GEAR_REDUCTION = 64;
const float STEPS PER_ OUT REV = STEPS PER ROTOR REV *
GEAR_REDUCTION;

int StepsRequired;
Stepper steppermotor(STEPS PER_ ROTOR _REV, §, 10, 9, 11);

int DSD = 15;

void setup(){
aser.attach(5);
delay(200);
bser.attach(6);
delay(200); =Y

aser.write(90);

delay(10);
bser.write(90);

delay(10);

Serial.begin(9600);
Serial.println("Welcome!");
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void loop(){
if (Serial.available()>0) {
char serialCmd = Serial.read();
armDataCmd(serialCmd);

}
}

void armDataCmd(char serialCmd){

if (serialCmd == 'c'||serial Cmd == 'd")
switch(serialCmd)

{ case 'c":

{ StepsRequired = STEPS PER OUT REYV;
steppermotor.setSpeed(500);
steppermotor.step(StepsRequired);
delay(1000);}

case 'd"

{ StepsRequired = -STEPS PER OUT REV;
steppermotor.setSpeed(800);
steppermotor.step(StepsRequired);
delay(2000);}

}

/I o BB FELIRS(E B
else if (serialCmd =="a' || serialCmd =="'b' ){
int servoData = Serial.parselnt();
servoCmd(serialCmd, servoData, DSD);
} else {
switch(serialCmd){
case 'o: // HHMALREEE
reportStatus();
break;
default:
Serial.println("Unknown Command.");

b
}
j

void servoCmd(char servoName, int toPos, int servoDelay){
Servo servo2go; //fI%E servo X 4

Serial.println("");
Serial.print("+Command: Servo ");
Serial.print(servoName);
Serial.print(" to ");
Serial.print(toPos);

Serial.print(" at servoDelay value ");
Serial.print(servoDelay);
Serial.println(".");



Serial.println("");

int fromPos;
switch(servoName){
case 'a":
if(toPos >= aserMin && toPos <= aserMax){
servo2go = aser;
fromPos = aser.read();
break;
} else {
Serial.println("+Warning: A Servo Value Out Of Limit!");
return;

}

case 'b":

if(toPos >= bserMin && toPos <= bserMax){
servo2go = bser;
fromPos = bser.read();
break;

}else {
Serial.println("+Warning: B Servo Value Out Of Limit!");
return;

}

if (fromPos <= toPos){ /Ui “HC4a M (A /N T B s EE”
for (int i=fromPos; i<=toPos; i++){
servo2go.write(i);
delay (servoDelay);

}
o else { /A5 RS R A AR R T H AR A AR
for (int i=fromPos; i>=toPos; i--){
servo2go.write(i);
delay (servoDelay);

b
}
}

void reportStatus() {
Serial.println("");
Serial.println("");
Serial.println("+ Servo Position Report +");
Serial.print("B Position: "); Serial.println(bser.read());
Serial.print("A Position: "); Serial.println(aser.read());
Serial.printIn("+++++++ttt++HHHH ),
Serial.println("");







